LB

EEP JL DEAD PEDAL KIT INSTALLATION

Here's what's included in the kit. Install time is
less than 30 minutes.

» Dead Pedal Bracket I I

= Mounting Plate § ]
= @

= Backing Plate with
10mm Locking Flange
Nuts

= 10mm Welded Studs

» 13mm Tapered Bolt
with Nyloc Nut

Open the driver’s side door and find the metal reinforcement plate
above the plastic kick panel.

Install the backing plate with the welded 1/4" bolts into the factory Pick one of the 3 locations on the mounting plate and install the tabs of
upper and lower holes in the metal plate utilizing the holes closest to the dead pedal bracket into the mounting plate. Then, fasten the
the firewall. mounting plate to the dead pedal bracket by installing the 5/16" bolt into

the countersunk hole in the backside of the mounting bracket and secure
the bolt with flat washer. Lock washer and nut.

Install the assembled dead pedal over the 1/4" bolt from the backing Test fit the dead pedal with your foot to make sure it is Iocated
plate and loosely install 1/4" flat washers, nuts on the bolts. where you want it to be. Make any necessary adjustments and once
itis where you like it, tighten the nuts.

Sales@TeamTechOffroad.com ® TeamTechOffroad.com e 720-307-7263




